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Because it was the vessels of the grantor — 7ap» 2 1992 719 M7 2R

OVERVIEW

The X773 explained the reason the woman did not acquire her freedom through the
19°%1 1Ip (of her master’s hat) is because the 1°9°711 were done using the >3 of the
grantor and not the *75 of the acquirer as is wont to be. ma01n discusses the manner
in which P9°%11 1°1p is performed.

— 1999903 NIKY 1% ANYA 1ANp v ha nvh Bx Yax
However if it were done with the 2¥%> of the m1p, then she would acquire her

freedom through 2°%m 17 -
—>1959M2 N3P 2339 TaPT (3,33 91 PYITIPT K1Y P9 NN NOINT
For we learnt explicitly in a Xn>22 in the first 99 of Pwy7>p ndon that an 72y
"110 is acquired through 95951 7°1p -
— YN 929 237 3133 199N 3P GUIT NN Y31 40T 11T POIINT DIVN
Since 2°n 1Ip is similar to o> 1P, so wherever o> acquires, 199°°17 also
acquires, except regarding a woman by U1 where she is not P»%na map1 -
— (3297 PYITH W2 IR *nwa) NP XY 10199 mwn mnsat oivn
Because a woman will not deliver herself for less than a 7u5,° as the X2
states in the beginning of 1wY7R NOoX.

mooin derives a halachic ruling from our X723:
— (3,5 Ny X32) ANTA P9I NNP DY 1D IINY 7295 19501 NNy Yo INI1)

And we can prove from the &1»3 here® that the 75937 is like 27 who maintains in
2717 P90 that 19°%17 1°12 must be done with the 2%%> of the m23p (the acquirer) —

mooin offers an additional proof that 295 71377 and 7P Hw 1°522 P1p:
— 99713 5PI9NY Tn%a 199391RY YWY NI DNA 1PIININ NI

" The term 93 (here) includes any item which can be used for any purpose, whether it is a utensil, a garment, etc.

*If the 7imdw would give her master a *23 which belonged to her, for 19°51 11p, she would have acquired her freedom.

? Moo assumes that just as an *1v35 72¥ can be acquired with 79°91, he can also acquire himself with 125

* pooon is valid with a 3 that is worth less than a 715 mw.

5 Mo here seems to be following "w1 nw*w in (X7 7"7 2,3) PWIIpR, that since 19°71 is effective by a 8™ wn minod *53,

which is a >R for an U R to be nwo1 X*3pn, therefore there is no 1291 PIp at all by 1Pw17p. See nMoOIN there 7"7 R,3

WX, for a different explanation (and 1"mn here). See 7"»x # 108-10.

% However an T3y is w1 X73pn for less than a 7vmo mw (see 2"mn). See ‘Thinking it over’.

75 (there on X,Tn) argues with 27 and maintains that 79°91 is accomplished 73pn 9w 17992 (the grantor).

¥ It is yam1 27 who ruled here that she is not freed (because it was 71pn %@ 193). [Generally] *172 7273 272 X029,

Tt is customary to write in the 70w that a 11 was made 2 7°°3pn? W57 X112, The word X1n excludes the view of
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And furthermore >7°X 177 772 nww 27 stated there that the expression =w>7 Rina'

792 oapnR', is used to exclude the view of %1%, that 73pn 5w 1952 p11p. This proves (also)
that the 72%7 is 7P Hw 17752 like 2.

mooIN rejects an anticipated refutation of this last proof:
— DYDY 137 NN oxa PPONRYT (3,70 19 YIINN 9992 9INT XNY M7 XD

And the case here is not similar to that which the X3 states in w=an P99 that
X29 instituted to write in the v3 that the husband is divorcing his wife ‘from this
day on and forever’; the X3 there explained that the words 737 X21» were included in order

— M55y 1991 9OYW HY 11T MINT Y0 5399 YPIONY

To exclude the view of 501 '3 who states the date of the "vw proves when it is
effective (and it is not necessary to add that the "vw is effective from this date because it is self-
understood), ¥27 however disagrees with this. It would seem therefore that the 71577 is not like
>, since the X723 states >" *PIORY -

— NP9 NN 7N D209 19993 297 23 Yy 9N

Even though that 39 himself rules like >"'7 in that »92. This indicates that even though

the X7m3 states “p19RY", that does not mean that the 7557 is not like him, similarly here too, even
though the X3 said 91 *P19K5. That does not necessarily mean that the 75977 is not like 5.

moon differentiates between the two NMna:
— PPHN NIVVYT N9V onng

For there (regarding 7°v)) X271 instituted to write 717 X1 for the betterment of

the “vw (it was an additional improvement), therefore this cannot disprove >";
— NNP DY 1952 2NN RY NIPN DY 1PD93 9INT INIPY XON DaN

However here (regarding 1°9°217) according to the one (7)) who maintains %22
mamn Bw, the 150 will not be effective 7 bw vsa.”

AR that 19°%0 is M0a Wwd, the word W7 excludes the view of YRw that Py 90 are W2, and 772 77I3pR°
excludes the view of *17 that n1pn 2w 1932 (for the term 77°°3p1n% means to acquire; indicating that the *93 acquired for
the 711p, see *"wA there 7»1pnb 73"7).
' See following footnote # 12.
Moy s discussing a ¥y7n 20w (vw) [va] that it is not necessary to write in the 7vw/ua that it is effective from today,
but rather since there is a date in the Tvw/v3 that indicates that the “vw/vi is effective as of today (if the n">w dies)
and it is not a N R WVW/v.
12 See n'"m1 that these words 7°90 277 indicate that M9 was 03 previously (see footnote # 10) 27 1pnX7 (and not
X27 7PNRT).
" Therefore we must say that if the ruling is 7P 9w 1222 we disagree totally with 73pn 2w ¥9; however by Tuw even
if we insist on writing 717 8112 (to improve the 70w) this does not mean that 177 7p°¥»n we disagree with the ruling
that 12y 1731 0w Hw .
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mooIn brings the dissenting view of >"w:
— 37 5Y 1993 Y79 NIPN YV 19993 YINT 397 (x,m xwen nam) 2NN WD DAV

And °"wn explained in 27177 P2 that " who maintains mp» %@ 922 the
certainly 7290 @ 193 is effective.

mooIn disagrees with >"wA:
— N7 152 YN 2NN NY ryay 1N HNNT 9INT 1199 AN PN)

And this does not seem to be correct, since "> maintains that the YX1 gave the

shoe (for 19°%17 1°17) to 13, it can only be effective in this manner and no other -
— 1937 N7 13PYAT DIVN 1°92DN 1TaY XY 2999 9INT )IN) 29D 15

Just like according to 1'"1 who maintains that food cannot be used for °5v%n,

because we need the 1°9°%1 to be similar to Y91 (which is the 1"9°51 which was used in

the 100 regarding 1¥12) -
- 17’)‘,7 NVIND MY 957 DININT 129N XD

And we do not say (according to 1"1) that since a "»> which is worth only a

WYL S TP (as 179°7m), so

— 537101 9254 590 ANIN NIONT P GIN DY M50 19Y
Certainly food which is worth a thousand 13, where there is so much more
benefit that the 7P should decide and grant the item to the 71p; we do not say this,
rather we say since the P05 writes 1791 it is only 2°95 that are fit for 1°5°%11 and not *1°9, similarly
if we assume (as "7 does) that the X (the 73pn) gave the 1P9°%n to 1312 (the n2p) that it is
effective only in this manner

mooin offers one last proof that the 7597 is anp 5w 1Hoa:
N0 PNy 739 Y 23 UNINOT (3,0m 9m POMYNA D9732 19590 1IN

It is not found in our w1 (explicitly). See 7"ax # 113.

!> According to this view there is no proof that the 7% is like 27, but rather we prefer 7P »w 1922 for then it is

effective "5 (similar to the case of writing 137 821 by a v3).

'® The X3 there explains that the npYom» between 27 and "% (and the parallel np1omn of @°Xin) is based on whether

1912 (who was the 1) gave his shoe (the 19°21) to the X (the 73pn; which means 711p 9w 1°93) or whether the X

gave it to ™12 (which is 73R YW 192)

7 See w"wn who comments that (Aud MY is K17 XY for) AV MW 12 PRY 5"YR *931 PR, See (however) 7"nR #

114-5.

'8 We derive from 1" that regarding 12°>n we do not follow the logic that if a minimal "3 s sufficient then

expensive 9 should 'certainly be effective, but rather we rely completely on the 105 that X2 >38 1°K 19¥31; similarly

regarding 171pn Hw 193 if that is what the 109 means then we cannot say that certainly it is effective n2p @ 1932 (as

"Y1 insists).

P x1moisa [hand]kerchief, which is commonly used for 15°91 Pip.

0 mupa% n"y *1p means when J2X grants something to 1Waw with the express instruction that 1W»w is acquiring it

only to grant it to "7 (but Nynw cannot have any use of it). 1" ruled that mipi? n"y *1p is 7P for we see that a 1°1p
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And in addition 1m1 27 states in 23971 Noox in PERT P19 that (792557) 9790 7717,

is a case where the 71pn is told acquire the 7710 in order to grant the 717 an item. It
is evident from that X7n3 that we use the 1 2w 195 (for 1°9°%1), which the 71pn acquires with the
intent that in turn he is 73p7 the item to the 71p.

SUMMARY
An 72¥ can acquire freedom through 1°9°%1 p, provided it is with 1P 5w 1°95 as it
is by all po°on.

THINKING IT OVER
Why was it necessary for mpoIn to explain®’ why an *1915 72y is 1"9°%m2 711 (and
distinguish 72y from 7wX)?

(y°7m) 770 is 7P even though it is NP2 1"V *1p, the MIpn acquires the 170 for the sole purpose of being 71pn the
agreed upon item to the 711p.
*! See footnote # 6.
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